

Food Safety Scares 2013:

American Lives at Risk from Unsafe Food

NO PROGRESS IN REDUCING FOODBORNE ILLNESS

Over the past few years, Americans have grown accustomed to seeing headlines about tainted food being recalled and pulled off store shelves. These high-profile recalls leave many Americans wondering whether enough is being done to reduce the risk of contaminated food and foodborne illness. And they are right to do so—48 million people get sick from eating tainted food each year, and despite significant costs to our economy and Americans' public health, the number of such illnesses, particularly from Salmonella, has remained stagnant for at least 5 years.1

More needs to be done to protect Americans from the risk of unsafe food. But important rules, standards, and inspections that could significantly improve food safety have been blocked, underfunded, or delayed, allowing the drumbeat of disease outbreaks to continue.

Multistate foodborne illness outbreaks between October 2012 and October 2013 caused:

- 1,494 foodborne illnesses linked to multistate outbreaks:
- 335 hospitalizations linked to multistate outbreaks;
- 2 deaths linked to multistate outbreaks;
- 615 incidences of Salmonella linked to multistate outbreaks; and
- 643 incidences of Cyclospora linked to multistate outbreaks caused by food products.

This report offers a snapshot look, from October 2012 to October 2013, at multistate foodborne illness outbreaks identified by the Center for Disease Control and Prevention (CDC). Failures in the rules and processes that protect our food supply have led to numerous serious outbreaks over the past year that left many Americans sickened and at least 2 dead. The economic cost of just the multistate outbreaks caused by food products recalled over the past 12 months comes to more than \$22 million.

The most important of these outbreaks involved high percentages of hospitalizations and cost millions of dollars:

- Bagged Salad linked to E.Coli 0157 outbreak: This outbreak began in November 2012 and ended in December. The outbreak was linked to a common producer of pre-packaged leafy green, it spread across 5 states. The contaminated salads caused 33 known illnesses, which included 13 hospitalizations. Two people developed hemolytic uremic syndrome (HUS), a type of kidney failure, as a result of their infections. 2
- Peanut Butter linked to Salmonella outbreak: An outbreak investigation was conducted in early September and ended November 30th. A total of 42 people have been infected with Salmonella Bredeney in 20 states. There have been 10 people hospitalized. This is a serious outbreak that is affecting our littlest consumers as the median age of victims is 7 years old. FDA concluded that Trader Joe's Valencia Peanut Butter, manufactured by Sunland, Inc. of New Mexico was likely the source of this outbreak and suspended the food facility's registration in November, 2012. This was the first time the FDA exercised its new authority under the FSMA to

- suspend a facility's registration. CDC recommends that consumers get rid of any remaining jars of product in the home or return the product and warns that products like peanut butter have a long shelf-life, so they may still be lurking in consumers' homes.3
- Cucumbers linked to Salmonella outbreak: In April 2013, the FDA alerted consumers about contaminated cucumbers produced by Daniel Cadenas Izabal and Miracle Greenhouse, a Mexico cucumber supplier, distributed by Tricar Sales, Inc of Rio Rico, Arizona. Testing by the FDA found Salmonella in cucumbers from this producer. A total of 84 persons have been infected with the outbreak strain of Salmonella Saintpaul in 18 states. There were 17 hospitalizations. 4
- Chicken linked to Antibioticresistant Salmonella outbreak:

This outbreak has sickened 338 people with 7 strains of *Salmonella* Heidelberg across 20 states. 42% of peopled affected by this outbreak were hospitalized. The USDA in conjunction with the CDC announced that the outbreak is coming from an unknown

product of Foster Farms Brand Chicken. Foster Farms has yet to recall their products. Most of the ill people have been reported in California (232 people, or 73%). Seven strains of Salmonella Heidelberg bacteria have been identified as being linked to this outbreak. III persons infected with each of the seven strains were linked to consumption Foster Farms chicken. Four of these strains are rarely reported, and the high hospitalization rate is twice the norm. An unusually high rate of blood infections (about 14%) requiring treatment with antibiotics has been reported in this outbreak.5

- Cyclospora outbreak in salad mix components: On August 12, Taylor Farms de Mexico voluntarily suspended production and shipment of salad components to the US. after Iowa and Nebraska investigations of Cyclospora linked the infection back to them. This outbreak infected 643 people over 25 states, resulting in 45 hospitalizations. Investigation of an Outbreak of Cyclosporiasis in the United States. 6
- Frozen Berries and Pomegranate seed mix linked to Hepatitis A: A potential Hepatitis A virus contamination was spotted by Townsend Farms, Inc. in relation to certain antioxidant brands on June 4th; because of this, Townsend Farms started recalling several of their products. The outbreak sickened 162 consumers in 10 states and sent 71 to

hospitals. Most cases were in the southwest region of the United States, notably California, Colorado, and Arizona. More than half of those infected were women, and 11 children age 18 or under were infected. 7

- Salmonella Heidelberg Infections Linked to Chicken: This outbreak began June 4th, 2012 and ended by July 2013. Foster Farms Brand Chicken was found to be the most likely source of the outbreak. A total of 134 people were diagnosed with Salmonella Heidelberg with 33 hospitalized over 13 states. The states most affected by the outbreak were western states, Washington (57) and Oregon (40) notably. This is the same Foster Farms that also had a recent case of Antibiotic resistant salmonella.8
- Brothers Farmstead Cheeses: The outbreak began May 20th 2013 and ended by September 2013. Listeria was traced back to the Crave Brothers Farmstead Cheese Company of Waterloo, Wisconsin. The company voluntarily recalled its Les Frères, Petit Frère, and Petit Frère with Truffles cheeses. The outbreak affected the northern United States mostly with one infection in Texas. There were a total of 6 cases in 5 states total. All 6 were hospitalized, 1 died, and one pregnant mother miscarriaged.9

The above illnesses are just those confirmed to be part of a multistate outbreaks. In actuality, there are many more illnesses, hospitalizations, and deaths each year from foodborne sickness. The Foodborne Diseases Active Surveillance Network (FoodNet) reports that 19,531 infections, 4,563 hospitalizations, and 68 deaths associated with foodborne diseases were reported in 2012. 10 In 2011, the CDC estimated that each year about 1 in 6 Americans get sick, 128,000 are hospitalized, and 3,000 die due to foodborne diseases.11

TRENDS IN FOOD RECALLS AND FOODBORNE DISEASE

TABLE A shows the total number of foodborne disease outbreaks and illnesses directly linked to multistate outbreaks in the United States from January 2012 to October 2013. There were 1,120 illnesses directly linked to multistate outbreaks in 2012. In 2013, however, there have already been 1,452 illnesses linked to multistate outbreaks.

Our food safety practices are clearly falling short. When comparing 2010 infection incidences with national health objective targets set by the Department of Health and Human Services, the only incidence rate that meets the target goal was the incidence of infection with *E. coli* O157. The incidence of *Salmonella* was three times the 2010 national health objective target, which is especially alarming, as *Salmonella* causes the majority of hospitalizations and deaths from foodborne disease. 12

THE COST OF FOODBORN ILLNESS

As the number of hospitalizations and deaths reported by the CDC show, foodborne illness can be much more severe than a simple upset stomach. Several foodborne illnesses can cause serious chronic health problems and death. Infection with a certain strand of E. coli bacteria can cause hemolytic-uremic syndrome, which causes kidney dysfunction and sometimes kidney failure. Certain types of *Shigella*, *Salmonella*, and *Campylobacter* bacteria can trigger the onset of reactive or chronic arthritis. If a pregnant woman is infected with certain types of *Listeria* monocytogenes, her baby is at risk for developmental delays, paralysis, or blindness.13 Not only do foodborne illnesses cause sickness and death, they are also detrimental to the economy. A recent study determined that the aggregated cost of foodborne illness comes to \$77.7 billion per year.14

Table B shows the cost by state of confirmed foodborne illness outbreaks. To calculate the costs we used the enhanced cost of illness model developed by Professor Robert L. Scharff. The model

accounts for health-related costs associated with foodborne illness such as hospital costs, lab work and inpatient and outpatient care and also incorporates a value for pain and suffering and lost productivity.15

CHALLENGES MODERNIZING FOOD SAFETY: NEW PROTECTIONS UNDER THE FOOD SAFETY MODERNIZATION ACT DELAYED

More must be done to protect Americans from the hazards of unsafe food. An important step towards reforming our food safety laws happened in 2011, when the Food Safety Modernization Act (FSMA) was signed into law. It aimed to ensure the U.S. food supply is safe by shifting the focus from responding to contamination to **prevention**, and putting in place more rules to protect produce, and strengthen inspections of food manufacturing sites. However, shortfalls in funding and rulemaking delays have left the promise of its new protections unfulfilled.

The FSMA requires the FDA to adopt new regulatory practices that focus on **improving prevention**, increasing company transparency, enhancing responses to outbreaks, and creating safer foreign food facilities. The implementation of FSMA now allows the FDA to issue mandatory recalls and perform many new preventative regulatory procedures.

If properly exercised, this new authority could significantly reduce the rates of foodborne illness. However, in reality the FSMA is not being implemented effectively or in a timely manner. FSMA called for the FDA to promulgate numerous major regulations on an expedited schedule, but several important rules have been significantly delayed in the Office of Information and Regulatory Affairs. 16

The Produce Safety Standards, submitted by FDA to OMB on 12/9/2011 but not returned until 01/04/2013, establishes standards for irrigation water, manure, worker-hygiene, and wildlife that may be sources of contamination of fresh fruits and vegetables. 17

Foreign Supplier Verification - part of a comprehensive import safety system, which makes importers responsible for the safety of the foods they import. This rule holds food importers liable for verifying that their foreign suppliers have adequate measures in place to prevent adulteration and contamination. U.S. companies that buy food products made in overseas facilities would be responsible for inspecting those facilities, periodically testing their shipments, and evaluating the supplier's written safety plans. Any company that imports food without having an adequate verification program in place would face penalties.

Prevention-based requirements- food companies will be required to develop food-safety plans that will identify possible sources of contamination and specify actions to address them.

FSMA Proposed Rule for Preventive Controls for Human Food: The rule was submitted to OMB 11/22/2011 but not returned until 01/04/2013. When they finally are put into use, these controls should significantly reduce the rates of foodborne illness. Facilities will need to put in place sanitation and preventive controls that are based on a scientific hazard analysis and establish performance standards to measure the implementation of proper food safety procedures. 18

Other FSMA requirements: FSMA mandates inspection frequencies based on a facility being identified as high-risk (HR) or non-high-risk (NHR). High risk facilities must be inspected at least once in the first 5 years following enactment of FSMA and then once every 3 years thereafter. NHR facilities must be inspected at least once in the first 7 years following enactment and then once every 5 years thereafter.

Even more than for facilities inside the U.S., FSMA calls for increased inspections of foreign facilities and puts teeth into the requirement that foreign facilities be subject to inspection. If the FDA is denied entrance to a facility, whether by the facility's owner or by a foreign government, food from that facility cannot be imported into the United States. However, with over 254,000 foreign establishments to inspect and 50 staff in its 13 foreign offices, the agency is ill-equipped to oversee this number of facilities. 20

One important reason for the ineffective implementation of FSMA is simple: the FDA is not being given adequate funding to do the job. The Obama administration's 2014 budget calls for an increase in FDA funding, but the most money would come from fees that the food industry and Congress oppose. Leaving aside user fees, post-sequester and post-shutdown, the FDA, like other agencies, would benefit from being fully funded.21

Beyond the funding shortfalls, there are clearly still several shortcomings of FSMA and of our food regulatory system that threaten food safety. For example, companies are allowed to take up to 18 months to put in place food safety plans, and government inspectors have up to five years to visit high-risk facilities with inspections required every three years thereafter.22 This not an effective way of inspecting high risk facilities. A system of inspections every three years would also risk problems going undetected for long periods of time.

The new law reforms the operations of the Food and Drug Administration (FDA), which is part of the U.S. Department of Health and Human Services (HHS), but does not change the practices of the Food Safety and Inspection Service (FSIS), which is part of the U.S. Department of Agriculture (USDA). There are also about 15 other federal agencies that take part in food regulatory practices, but the FDA and the FSIS together comprise the two main components of the government's food regulatory system. The FDA sets and enforces standards through inspection for all domestic and imported foods except for meat, poultry, and processed eggs, which are the responsibility of the FSIS.

The Government Accountability Office (GAO) concluded the American food regulatory framework is fragmented, with responsibility for different foods divided up among various agencies. GAO stated that FSMA "strengthens a major part of the food safety system; however, it does not apply to the federal food safety system as a whole."21 As discussed earlier, FDA regulates 80 percent of our food supply, but meat, poultry, and eggs are controlled by FSIS under the USDA, which is unaffected by the bill. FDA cannot implement mandatory recalls of meat and poultry, nor can they increase inspections of such facilities.

CONCLUSION

The task of reducing foodborne illness is not an easy one. Many federal and state food safety laws were enacted at the beginning of the 20th century. They are now outdated and unable to effectively protect us from foodborne pathogens, particularly in an environment where more and more foods are imported. The rules and inspection systems we have now are not up to the task—and as this report documents, the result has been that the problem of foodborne illness has stayed stagnant and potentially grown worse, taking a substantial toll on public health and our economy.

The Food Safety Modernization Act was an important step towards an improved system that can at last reduce consumers' vulnerability to unsafe food. But its promise has so far remained unfulfilled, and more must be done to prevent costly disease outbreaks:

- Congress needs to provide FDA with sufficient funding to effectively implement the food safety measures mandated in the new FSMA law.
- FDA needs to ensure timely implementation of FSMA programs and regulations.

- The FDA should perform more frequent and unannounced inspections of high-risk food facilities.
- The FDA should issue strict standards by which auditors should be judged, and exercise rigorous oversight of both accrediting bodies and auditors in order for the third-party certification program to protect food imports.
- The USDA should declare antibiotic-resistant Salmonella an illegal food adulterant. Antiobiotic-resistrant strains of Salmonella are a particular threat to human health because they are resistant to many of the drugs normally used to fight infection, which reduces the medical treatment options available, resulting in more severe disease outcomes.
- FSIS should have mandatory recall authority. In order to strengthen the agency's authority, FSIS should ask Congress to provide it explicit authority to fully enforce its pathogen reduction performance standards, require companies to conduct a recall and levy financial penalties.
- There needs to be greater coordination between the FDA, USDA, CDC, FSIS and other federal agencies to ensure our food is safe.

TABLE A: MULTISTATE FOODBORNE ILLNESS OUTBREAKS OCTOBER 2012 TO OCTOBER 2013

Dates of Illnesses	Product	Contaminant	No. of Illnesses	Deaths	States Affected	States Affected
October 18, 2012 to November 12, 2012	Wegmans brand Organic Spinach and Spring Mix blend salad products	Shiga toxin- producing <i>E.</i> <i>coli</i> O157:H7	33 (13 hospitalizations)	0	5	NY (26), MA (3), CT (2), PA (1), VA (1)
June 14, 2012 to September 21, 2012	Sunland, Inc., Peanut Butter	Salmonella Bredeney	42 (10 hostpitalizations)	0	20	AZ (1), CA (7), CT (3), IL (1), LA (1), MA (3), MD (1), MI (1), MN (1), MO (2), NJ (2), NM (1), NY (2), NV (1), NC (3), PA (2), RI (1), TX (5), VA (2), WA (2)
December 9, 2012 to February 20, 2013	Jouni Meats Inc. or Gab Halal, ground beef	Salmonella Typhimurium	22 (7 hospitalizations)	0	6	AZ (1), IA (1), IL (2), MI (9), PA (1), WI (8)
May 5, 2012 to April 16, 2013	Foster Farms, chicken	Salmonella Heidelberg	134 (33 hospitalizations)	0	13	AL (1), AK (13), CA (11), HI (1), ID (2), MA (1), MT (2), NY (1), OR (40), UT (3), VA (1), WA (57), WV(1)
December 30, 2012 to April 15, 2013	Farm Rich Brand Frozen Food Products	E. coli O121	35 (9 hospitalizations)	0	19	AL (1), AR (1), CA (1), CO (1), FL (2), IL (2), IN (2), MI (3), MS (1), MO (1), NY (4), OH (6), PA (1), SD (1), TX (3), UT (1), VA (1), WA (1), WI (2)
January 12, 2013 to April 28, 2013	Daniel Cardenas Izabal and Miracle Greenhouse of Mexico, cucumbers	Salmonella Saintpaul	84 (17 hospitalizations)	0	18	AZ (11), CA (29), CO (2), ID (2), IL (3), LA (1), MA (1), MD (1), MN (9), NV (1), NM(2), NC (3), OH (3), OR (2), SD (2), TX (7), VA (3), WI (2)
February 19, 2013 to May 25, 2013	Krinos Foods, LLC, of NY, tahini sesame paste	Salmonella species Montevideo and	16 (1 hospitalization)	1	9	CA (1), GA (1), IA (1), LA (1), MN (2), NY (1), ND (1), TX (7), WI (1)

		Mbandka				
March 31, 2013 to July 26, 2013	Townsend Farms Organic Anti- Oxidant Blend" mix of berries and pomegranate seeds Investigation still underway	Hepatitis A	162 (71 hospitalized)	0	10	AZ (23), CA (79), CO (28), HI (8), NH (1), NJ (1), NM (11), NV (6), UT (3), WI (2)
May 20, 2013 to July 7, 2013	Crave Brothers Farmstead Cheeses of Wisconsin Investigation still underway	Listeriosis	6 (6 Hospitalized, one miscarriage)	1	5	IL (1), IN (1), MN (2), OH(1), TX (1)
June 1, 2013, to August 29, 2013	Fresh Mixed Salad (yet to be identified) Investigation still underway	Cyclospora	631 (45 hospitalized)	0	25	AR(13), CA(1), CT(2), FL(32), GA(5), IA (153), IL (13), KS(4), LA(3), MA(3), MI(1) MN(3), MO(5), NE(86), NH(1), NJ(4), NY(2, NYC (7)), OH(3), PA(1), SD(1), TN(1) TX(278), VA(3), WI(17), WY(1)
March 1, 2013 to October 29, 2013	Outbreak of Antibiotic Resistant Salmonella Linked to Foster Farms Brand Chicken Investigation still underway	Salmonella Heidelberg	362 (38% hospitalized)		20	AK(1), AR(1), AZ(14), CA(268), CO(7), CT(1), DL (1) FL(4), ID(3), KY(1), MI(3), MO(5), NC(1), NV(9), NM(2), OR(9), TX(11), UT(2), VA(2), WA(15), WI(1), PR(1)

Source: Center for Disease Control and Prevention Multistate Outbreaks

TABLE B: ECONOMIC BURDEN OF FOODBORNE ILLNESS BY STATE

OCTOBER 2012 TO OCTOBER 2013

		No. Of		
State	Disease Agent	Cases	Cost per Case (Enhanced Model)	Total Cost (Enhanced)
Alabama	Salmonella Heidelberg	1	\$11,086	\$11,086
	E. coli O121 (STEC Non-O157)	1	1,366	1,366
			TOTAL:	12,452
Alaska	Salmonella Heidelberg	13	11,086	144,118
	Salmonella Heidelberg(resistant strain)	2	11,086	22172
			TOTAL:	166,290
Arizona	Salmonella Bredeney	1	11,086	11,086
	Salmonella Typhimurium	1	11,086	11,086
	Salmonella Saintpaul	11	11,086	121,946
	Hepatitis A	23	37,073	1,075,117
	Salmonella Heidelberg(resistant strain)	14	11,086	155,204
			TOTAL:	1,518,557
Arkansas	E. coli O121 (STEC Non-O157)	1	1,366	1,366
	Cyclospora	16	1,483	23,728
	Salmonella Heidelberg(resistant strain)	1	11,086	11,086
			TOTAL:	55,459
California	Salmonella Bredeney	7	11,086	77,602
	Salmonella Heidelberg	11	11,086	121,946
	E. coli O121 (STEC Non-O157)	1	1,366.00	1,366
	Salmonella Saintpaul	29	11,086	321,494
	Salmonella Species Montevideo and Mbandka	1	11,086	11,086
	Hepatitis A	79	37,073	2,928,767
	Cyclospora	1	1,483	1,483
	Salmonella Heidelberg(resistant strain)	268	11,086	2,971,048
			TOTAL:	6,434,792
Colorado	E. coli O121 (STEC Non-O157)	1	1,366	1,366
	Salmonella Saintpaul	2	11,086	22,172

	Hepatitis A	28	37,073	1,038,044
	Salmonella Heidelberg(resistant strain)	7	11,086	77,602
			TOTAL:	1,139,184
Connecticut	E. Coli 0157:H7 (STEC 0157:H7)	2	10,048	20,096
	Salmonella Bredeney	3	11,086	33,258
	Cyclospora	2	1,483	2,966
	Salmonella Heidelberg(resistant strain)	1	11,086	11,086
	<u>.</u>		TOTAL:	67,406
Delaware				
	Salmonella Heidelberg(resistant strain)	1	11,086	11,086
			TOTAL:	11,086
Florida	E. coli O121 (STEC Non-O157)	2	1,366	2,732
	Cyclospora	33	1,483	48,939
	Salmonella Heidelberg(resistant strain)	4	11,086	44,344
			TOTAL:	96,015
Georgia	Salmonella Species Montevideo and Mbandka	1	11,086	11,086
	Cyclospora	5	1,483	7,415
			TOTAL:	18,501
Hawaii	Salmonella Heidelberg	1	11,086	11,086
	Hepatitis A	8	37,073	296,584
			TOTAL:	307,670
Idaho	Salmonella Heidelberg	2	11,086	22,172
	Salmonella Saintpaul	2	11,086	22,172
	Salmonella Heidelberg(resistant strain)	3	11,086	33,258
			TOTAL:	77,602
Illinois	Salmonella Bredeney	1	11,086	11,086
	Salmonella Typhimurium	2	11,086	22,172
	E. coli O121 (STEC Non-O157)	2	1,366	2,732
	Salmonella Saintpaul	3	11,086	33,258
	Listeriois	1	1,282,069	1,282,069

	Cyclospora	14	1,483	20,762
			TOTAL:	1,372,079
Indiana	E. coli O121 (STEC Non-O157)	2	1,366	2,732.00
	Listeriois	1	1,282,069	1,282,069
			TOTAL:	1,284,801
Iowa	Salmonella Typhimurium	1	11,086	11,086
	Salmonella Species Montevideo and Mbandka	1	11,086	11,086
	Cyclospora	140	1,483	207,620
			TOTAL:	229,792
Kansas	Cyclospora	4	1,483	5,932
			TOTAL:	5,932
Kentucky	Salmonella Heidelberg(resistant strain)	1	11,086	11,086
			TOTAL:	11,086
Louisiana	Salmonella Bredeney	1	11,086	11,086
	Salmonella Saintpaul	1	11,086	11,086
	Salmonella Species Montevideo and Mbandka	1	11,086	11,086
	Cyclospora	3	1,483	4,449
			TOTAL:	37,707
Maine				
Maryland	Salmonella Bredeney	1	11,086	11,086
	Salmonella Saintpaul	1	11,086	11,086
			TOTAL:	22,172
Massachusetts	E. Coli 0157:H7 (STEC 0157:H7)	3	10,048	30,144
	Salmonella Bredeney	3	11,086	33,258
	Salmonella Heidelberg	1	11,086	11,086
	Salmonella Saintpaul	1	11,086	11,086
	Cyclospora	3	1,483	4,449
			TOTAL:	90,023
Michigan	Salmonella Bredeney	1	11,086	11,086
	Salmonella Typhimurium	9	11,086	99,774
	E. coli O121 (STEC Non-O157)	3	1,366	4,098

	Cyclospora	1	1,483	1,483
	Salmonella Heidelberg(resistant strain)	3	11,086	33,258
			TOTAL:	149,699
Minnesota	Salmonella Bredeney	1	11,086	11,086
	Salmonella Saintpaul	9	11,086	99,774
	Salmonella Species Montevideo and Mbandka	2	11,086	22,172
	Listeriois	2	1,282,069	2,564,138
	Cyclospora	3	1,483	4,449
			TOTAL:	2,701,619
Mississippi	E. coli O121 (STEC Non-O157)	1	1,366	1,366
			TOTAL:	1,366
Missouri	Salmonella Bredeney	2	11,086	22,172
	E. coli O121 (STEC Non-O157)	1	1,366	1,366
	Cyclospora	5	1,483	7,415
	Salmonella Heidelberg(resistant strain)	5	11,086	55,430
			TOTAL:	86,383
Montana	Salmonella Heidelberg	2	11,086	22,172
			TOTAL:	22,172
Nebraska	Cyclospora	87	1,483	129,021
			TOTAL:	129,021
Nevada	Salmonella Bredeney	1	11,086	11,086
	Salmonella Saintpaul	1	11,086	11,086
	Hepatitis A	6	37,073	222,438
	Salmonella Heidelberg(resistant strain)	9	11,086	99,774
			TOTAL:	344,384
New		1	37,073	37,073
Hampshire	Hepatitis A			
	Cyclospora	1	1,483	1,483
Ni see 1		2	TOTAL:	38,556
New Jersey	Salmonella Bredeney	2	11,086	22,172
	Hepatitis A	1	37,073	37,073

	Cyclospora	4	1,483	5,932
			TOTAL:	65,177
New Mexico	Salmonella Bredeney	1	11,086	11,086
	Salmonella Saintpaul	2	11,086	22,172
	Hepatitis A	11	37,073	407,803
	Salmonella Heidelberg(resistant strain)	2	11,086	22,172
			TOTAL:	463,233
New York	E. Coli 0157:H7 (STEC 0157:H7)	26	10,048	261,248
	Salmonella Bredeney	2	11,086	22,172
	Salmonella Heidelberg	1	11,086	11,086
	E. coli O121 (STEC Non-O157)	4	1,366	5,464
	Salmonella species Motevideo and Mbandka	1	11,086	11,086
	Cyclospora	10	1,483	14,830
			TOTAL:	325,886
North Carolina	Salmonella Bredeney	3	11,086	33,258
	Salmonella Saintpaul	3	11,086	33,258
	Salmonella Heidelberg(resistant strain)	1	11,086	11,086
			TOTAL:	77,602
North Dakota	Salmonella Species Montevideo and Mbandaka	1	11,086	11,086
			TOTAL:	11,086
Ohio	E. coli O121 (STEC Non-O157)	6	1,366	8,196
	Salmonella Saintpaul	3	11,086	33,258
	Listeriois	1	1,282,069	1,282,069
	Cyclospora	3	1,483	4,449
			TOTAL:	1,327,972
Oklahoma				
Oregon	Salmonella Heidelberg	40	11,086	443,440
	Salmonella Saintpaul	2	11,086	22,172
	Salmonella Heidelberg(resistant strain)	9	11,086	99,774
			TOTAL:	565,386
Pennsylvania	E. Coli 0157:H7 (STEC 0157:H7)	1	10,048	10,048

	Salmonella Bredney	2	11,086	22,172
	Salmonella Typhimurium	1	11,086	11,086
	E. coli O121 (STEC Non-O157)	1	1,366	1,366
	Cyclospora	1	1,483	1,483
			TOTAL:	46,155
Rhode Island	Salmonella Bredney	1	11,086	11,086
	· ·		TOTAL:	11,086
South Carolina				
South Dakota	E. coli O121 (STEC Non-O157)	1	1,366	1,366
	Salmonella Saintpaul	2	11,086	22,172
	Cyclospora	1	1,483	1,483
	· '		TOTAL:	25,021
Tennessee	Cyclospora	1	1,483	1,483
	, ,		TOTAL:	1,483
Texas	Salmonella Bredeney	5	11,086	55,430
	E. coli O121 (STEC Non-O157)	3	1,366	4,098
	Salmonella Saintpaul	7	11,086	77,602
	Salmonella Species Montevideo and Mbandka	7	11,086	77,602
	Listeriois	1	1,282,069	1,282,069
	Cyclospora	270	1,483	400,410
	Salmonella Heidelberg(resistant strain)	11	11,086	121,946
	G. ,		TOTAL:	2,019,157
Utah	Salmonella Heidelberg	3	11,086	33,258
	E. coli O121 (STEC Non-O157)	1	1,366	1,366
	Hepatitis A	3	37,073	111,219
	Salmonella Heidelberg(resistant strain)	2	11,086	22,172
	<u>.</u>		TOTAL:	168,015
Vermont				
Virginia	E. Coli 0157:H7 (STEC 0157:H7)	1	10,048	10,048
	Salmonella Bredeney	2	11,086	22,172
	Salmonella Heidelberg	1	11,086	11,086

	E. coli O121 (STEC Non-O157)	1	1,366		1,366	
	Salmonella Saintpaul	3	11,086		33,258	
	Cyclospora	4	1,483		5,932	
	Salmonella Heidelberg(resistant strain)	2	11,086		22,172	
			TOTAL:		106,034	
Washington	Salmonella Bredeney	2	11,086		22,172	
	Salmonella Heidelberg	57	11,086		631,902	
	E. coli O121 (STEC Non-O157)	1	1,366		1,366	
	Salmonella Heidelberg(resistant strain)	15	11,086		166,290	
			TOTAL:		821,730	
West Virginia	Salmonella Heidelberg	1	11,086		11,086	
			TOTAL:		11,086	
Wisconsin	Salmonella Typhimurium	8	11,086		88,688	
	E. coli O121 (STEC Non-O157)	2	1,366		2,732	
	Salmonella Saintpaul	2	11,086		22,172	
	Salmonella Species Montevideo and Mbandka	1	11,086		11,086	
	Hepatitis A	2	37,073		74,146	
	Salmonella Heidelberg(resistant strain)	1	11,086		11,086	
	Cyclospora	18	1,483		26,694	
			TOTAL:		236,604	
Wyoming	Cyclospora	1		1,483		1,483
			TOTAL:		1,483	
Puerto Rico	Salmonella Heidelberg(resistant strain)	1		11,086		\$11,086
			TOTAL:			\$11,086
			SUM TOTAL:		\$22,546,418	

ENDNOTES

- 1 http://www.cdc.gov/media/pressrel/2010/r101215.htm
- 2 Centers for Disease Control and Prevention. Multistate Outbreak of Shiga Toxin-producing Escherichia Coli O157:H7 Infections Linked to Organic Spinach and Spring Mix Blend. (2012) Available at www.cdc.gov/ecoli/2012/O157H7-11-12/index.html
- 3 Centers for Disease Control and Prevention. Multistate Outbreak of Salmonella Bredeney Infections Linked to Peanut Butter Manufactured by Sunland, Inc. (2012) Available at www.cdc.gov/salmonella/bredeney-09-12/index.html
- 4 Centers for Disease Control and Prevention. Multistate Outbreak of Salmonella Saintpaul Infections Linked to Imported Cucumbers. (2013) Available at www.cdc.gov/salmonella/saintpaul-04-13/index.html
- 5 Centers for Disease Control and Prevention. Multistate Outbreak of Multidrug-Resistant Salmonella Heidelberg Infections Linked to Foster Farms Brand Chicken. (2013) www.cdc.gov/salmonella/heidelberg-10-13/index.html
- 6 Centers for Disease Control. Cyclosporiasis Outbreak Investigations- United States, 2013. (2013) Available at www.cdc.gov/parasites/cyclosporiasis/outbreaks/investigation-2013.html
- 7 Centers for Disease Control. Multistate Outbreak of Hepatitis A Virus Infections Linked to Pomegranate Seeds from Turkey. (2013) Available at www.cdc.gov/hepatitis/Outbreaks/2013/A1b-03-31/index.html
- 8 Centers for Disease Control. Multistate Outbreak of Salmonella Heidelberg Infections Linked to Chicken. (2013) Available at www.cdc.gov/salmonella/heidelberg-02-13/index.html
- 9 Centers for Disease Control. Multistate Outbreak of Listeriosis Linked to Crave Brothers Farmstead Cheeses. (2013) Available at www.cdc.gov/listeria/outbreaks/cheese-07-13/index.html
- 10 Estimates of foodborne illness in the United States. Centers for Disease Control and Prevention. 2012. Available at: http://www.cdc.gov/foodborneburden/surveillance-systems.html.
- 11 Estimates of foodborne illness in the United States. Centers for Disease Control and Prevention. 2012. Available at: http://www.cdc.gov/foodborneburden/surveillance-systems.html.
- 12 CDC research shows outbreaks linked to imported foods increasing. Centers for Disease Control and Prevention. 2012. Available at: http://www.cdc.gov/media/releases/2012/p0314 foodborne.html.
- 13 Food safety and foodborne illness. World Health Organization. 2007. Available at: http://www.who.int/mediacentre/factsheets/ fs237/en/.
- 14 Food import safety. Pew Health Group and Center for Science in the Public Interest. 2012. Available at:http://www.cspinet.org/ foodsafety/PDFs/FoodImportBrief.pdf. 13 Food import safety. Pew Health Group and Center for Science in the Public Interest. 2012. Available at: http://www.cspinet.org/ foodsafety/PDFs/FoodImportBrief.pdf.
- Scharff, Robert. Economic burden from health losses due to foodborne illness in the United States. Journal of Food Protection. 2012. Available at: http://www.ncbi.nlm.nih.gov/pubmed/22221364.
- 16 http://foodpoisoningbulletin.com/2012/omb-delayed-food-safety-rules-still-not-released/
- 17 The new FDA food safety modernization act. U.S. Food and Drug Administration. 2012. Available at: http://www.fda.gov/Food/ FoodSafety/FSMA/default.htm.
- 18 The new FDA food safety modernization act. U.S. Food and Drug Administration. 2012. Available at: http://www.fda.gov/Food/ FoodSafety/FSMA/default.htm.
- 19 Obama administration states opposition to FDA budget cut. Accessed at http://www.foodqualitynews.com/content/view/ print/649738
- 20 http://about.bloomberglaw.com/practitioner-contributions/fsma-two-years-after-enactment-still-waiting-for-other-shoe-to-drop/
- 21 FDA's Food advisory and recall process needs strengthening. Available at: http://www.gao.gov/assets/600/593031.pdf